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1AKRET (SHMEDHENLE)

DIBEMFELENRR EMEARCEHDHIENES
SHSE | SF6E | =8 DHSE | DI6E
EHEEL 114 122 +8 BEEHE S 50.9% 47.5%
FEE 0 2 +2 T ERERESX 24.6% 19.7%
BIEEH 10 7 -3 smEEsS=|  24.6%| 30.3%
BRISEH 111 126 +15 953 -5 R 8.8% 8.2%
FEISEET 121 135 +14 ZEbEExXR 6.1% 4.9%
SweEEs= | 42.1%|  34.4%
BUESR 0.0% 1.3%
\
1AbHB12BFKET (SH4ELSHSEDLLE)
BERRERT SR RCEDIES
SI4AE | SH5E | 18R SI4E | DASE
EHUEER 1,426 1,583 +157 SETREL =B 51.3% 53.3%
FEEER 10 11 +1 EREEREX 21.4% 21.0%
BIEEN 87 72 -15 syElEs= |  29.5%| 25.6%
BIEEN 1,457 1,647 +190 593 -5 8.4% 8.7%
FEISEET 1,554 1,730 +176 FEHRESE 5.5% 5.7%
= ERESX 33.7% 34.7%
AR 0.8% 1.3%




